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QUESTION 1

Which data protection strategy has the most overhead capacity as a percentage of the total capacity? 

A. RAID 10 

B. RAID 6 

C. RAID 5 

D. Dynamic Disk Pools (DDP) 

Correct Answer: C 

Reference: https://www.techrepublic.com/blog/the-enterprise-cloud/raid-50-offers-a-balance-ofperformance-storage-
capacity-and-data-integrity/ 

 

QUESTION 2

You want to find detailed information about the devices that are connected to the Brocade switch. In this scenario, which
command would accomplish this goal? 

A. portloginshow  

B. zoneshow 

C. nsshow 

D. switchshow 

Correct Answer: A 

Reference: https://jp.fujitsu.com/platform/server/primergy/products/note/other/FOS_CmdRef_v720.pdf 

(849) 

 

QUESTION 3

A customer has launched a data analytics initiative and has been transferring old data into the new data lake. The
customer has discovered some data read errors during the transfer process. 

In this scenario, how should the customer have avoided these data integrity issues? 

A. by ensuring that data assurance and media scan are always activated 

B. by deploying secure-capable drives 

C. by turning on cyclic redundancy checks (CRCs) 

D. by turning on erasure coding 
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Correct Answer: A 

 

QUESTION 4

Which iSCSI setting would you change from its default value to increase the throughput of an iSCSI host port on a
NetApp E-Series system? 

A. maximum transmission unit (MTU) 

B. flow control 

C. Challenge-Handshake Authentication Protocol (CHAP) 

D. Time to Live (TTL) 

Correct Answer: A 

Reference: https://www.netapp.com/us/media/tr-3409.pdf 

 

QUESTION 5

Click the Exhibit button. 

Referring to the exhibit, which three statements are true? (Choose three.) 

A. There are two SAS expansion ports available 

B. There are six SAS host ports available 

C. There are two Base-T iSCSI ports available 

D. There are two FC/iSCSI host ports available 

E. There are four SAS host ports available 

Correct Answer: BCD 
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